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6th Grade Math (Statistics) Enrichment #8 (Lesson 29-2)

Ready:

In your own words, summarize what MAD tells you about the variability of a distribution.
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2. Consider the following 3 data sets. All of the data values are whole numbers.
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(a) Calculate the mean of each data set. mean , , o be2
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Th'érfﬁ}éyévaé‘ta sets have MAD values of 7, 9 and 11. Match the data sets to the
appropriate MAD value without actually making a calculation.
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3. Verify the MAD value for one of the data sets in part b. ac. _
MAD =16 = 9

Set:
4. (a) Evaluate: 3+2 Write a story problem for this fraction division problem.
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(b) If a steak costs $2.25 per pound, how much does 0.8 pounds of steak cost?
X = cost of stz l @F)
% = 0.8 (2.25)
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5. Brenna has the following data: 16 11
If the median is 16, what number could be in the box?
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Go:
6. Susan has four 20-point projects for math class. Susan’s scores on the first 3 projects
are shown below: g+ ISt 6 +x =

Project 1: 18 reen = 4

Project2: 15 4+ X _ 7

Project3: 16 4 - _ ‘\

Project4: 77 x=

roject 4: 2 49+ = 6B

What score does she need to make on Project 4 so that the mean for the four projects is 177?
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8. What does a large value for MAD tell you about the data?
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